STUDENT WORKSHEET
Instructions

Complete the 2 times table below, then colour in all the multiples of 2 to reveal the
hidden picture.

1x2= 5x2-= 9x2=
2X2= 6X2= 10x2 =
3x2= 1TXx2= 11x2=
4x2= 8x2-= 12x2 =
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SOLUTION 2 X TABLE
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STUDENT WORKSHEET
Instructions

Complete the 3 times table below, then colour in all the multiples of 3 to reveal the
hidden picture.

1x3= 5x3= 9x3=
2Xx3= 6x3= 10x3=
3Xx3= 7x3= 11x 3=
4x3= 8x3= 12x3=
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SOLUTION 3 X TABLE
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STUDENT WORKSHEET
Instructions

Complete the 4 times table below, then colour in all the multiples of 4 to reveal the
hidden picture.

1x4= 5x4= 9x4-=
2Xx4= 6x4-= 10x4 =
3x4-= 7Tx4= 11 x4 =
4x4= 8x4-= 12 x4 =
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SOLUTION4 X TABLE
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STUDENT WORKSHEET
Instructions

Complete the 5 times table below, then colour in all the multiples of 5 to reveal the
hidden picture.

1x5= 5x5= 9x5=
2x5= 6Xx5= 10x5=
3xb= 7xb= 11x5=
4x5= 8x5= 12 x5=
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SOLUTIONS X TABLE
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STUDENT WORKSHEET
Instructions: Write out the 6 times table from 1 x 6 to 12 x 6, then colour in all the multiples of 6 to reveal the hidden picture.

© Colourmath 2008
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STUDENT WORKSHEET
Instructions

Complete the 7 times table below, then colour in all the multiples of 7 to reveal the
hidden picture.

1x7= 5x7= O9x7=

2X7= 6X7= 10x 7=

3X7= TxX7= 11x7=

4x7= 8xX7= 12x7=
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SOLUTION 7 X TABLE
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Instructions

STUDENT WORKSHEET

Complete the 8 times table below, then colour in all the multiples of 8 to reveal the

hidden picture.

1x8= 5x8= Ox8-=
2Xx8= 6x8= 10x8=
3x8= 7Xx8= 11x8=
4x8= 8x8= 12x8=
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SOLUTION 8 X TABLE
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STUDENT WORKSHEET
Instructions

Complete the 9 times table below, then colour in all the multiples of 9 to reveal the
hidden picture.

1x9= 5x9-= 9x9=
2X9= 6Xx9-= 10x9 =
3x9= 7x9= 11 x9 =
4x9= 8x9= 12x9=
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SOLUTION 9 X TABLE
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Instructions: Write out the 10 times table from 1 x 10 to 12 x 10, then colour in all the multiples of 10 to reveal the hidden picture.

STUDENT WORKSHEET

© Colourmath 2008
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SOLUTION 10 X TABLE
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STUDENT WORKSHEET
Instructions: Write out the 11 times table from 1 x 11 to 12 x 11, then colour in all the multiples of 11 to reveal the hidden picture.
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SOLUTION 11 X TABLE
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STUDENT WORKSHEET
Instructions

Complete the 12 times table below, then colour in all the multiples of 12 to reveal the
hidden picture.

1x12= 5x12= 9x12=
2x12 = 6x12= 10 x 12 =
3x12= 7x12 = 11 x12 =
4x12= 8x12= 12 x12 =
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SOLUTION 12 X TABLE

56 — 104

e

66| 76 5136 | 124

© Colourmath 2008



